Multiplication et Division par 10* (E)

Trouvez chaque produit ou quotient.

5,34 + 101 = 3,98 x 10 =
1,5655 + 10" = 9,6 + 10! =
9,3564 + 10* = 4,767 + 10" =
2% 10! = 6,4 x 10 =
6,3728 = 10 = 9,6 + 10! =
5,1+ 10" = 6,5 x 10! =
5,8 X 10 = 2,17 + 10 =
2,41 x 10" = 3,334 x 10 =
4,2207 x 10* = 5,09 + 10 =
7,07 x 10 = 2,59 X 10 =
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Multiplication et Division par 10" (E) Solutions

Trouvez chaque produit ou quotient.

5,34+ 10" = 0,534

1,5655 + 10* = 0,15655

9,3564 + 10" = 0,93564

2x10'=20

6,3728 + 10* = 0,63728

51+10'=0,51

58 % 101 =58

2,41 x 10' =241

4,2207 x 10" = 42,207

7,07 x 10* = 70,7

3,98 x 10* = 39,8

9,6 + 10 = 0,96

4,767 + 10 = 0,4767

6,4 X 10* = 64

9,6 ~ 10 = 0,96

6,5 %X 101 =65

2,17 + 10 =0,217

3,334 x 10" = 33,34

5,09 + 10 = 0,509

2,59 x 10 = 25,9
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